
 
US ITER Project Office 

1055COM, MS-6483 
P.O. Box 2008 

Oak Ridge, TN 37831-6483 
Phone: (865)574-5947 

Facsimile: (865)574-6108 
Email: sauthoffnr@ornl.gov 

August 06, 2015 
 
Mr. David K. Arakawa 
Federal Project Director,  
US Contributions to ITER 
Department of Energy 
Post Office Box 2008 
Oak Ridge, Tennessee 37831-6483 
 
Dear Mr. Arakawa: 
 
Contract DE-AC05-00OR-22725, Request Concurrence on Closure Documentation for Level 2 
Performance Plan Milestone 
 
This letter requests your concurrence on the closing of the FY 14 Performance Plan Milestone, 
USEP09B1050; Deliver HV Switches (Lot 1) to ITER Site; based on the attached IDM-approved 
Delivery Report. 
 
Please provide your concurrence by signing below and return the original to my office at your earliest 
convenience.  Should you have questions or concerns, please contact Suzanne Herron at 865-241-5128 
or herronsa@ornl.gov.  
 
Sincerely, 
 
 
Ned R. Sauthoff, Project Manager 
US ITER Project 
 
 
Concur:__________________________________   Date:_____________________ 
 David K. Arakawa, Federal Project Director 
 US Contributions to ITER 
 
NRS:lfl 
 
Cc: Bill Cahill 

Suzanne Herron 
 Jama Hill 
 Graeme Murdoch 
 Charles L. Neumeyer 

Mark Pratt 
 Wayne Steffey 
 USIPO DCC (RC)

mailto:herronsa@ornl.gov


2 
 

ATTACHMENT 
 
Contract DE-AC05-00OR-22725, Request Concurrence on Closure Documentation for Level 2 
Performance Plan Milestone 
 

Performance Plan Milestone: Deliver HV Switches (Lot 1) to ITER Site 
Performance Plan Milestone Date:  September 30, 2014 
Completion Date:  September 19, 2014 
Justification for Milestone Closure: IDM-approved Delivery Report 

 
 
 
 
 
 
 
 
Recommend for Closure: 
 
 
 
 
Concur:  ________________________________________  Date:  ______________ 
    Charles L. Neumeyer, WBS Team Leader 
 
 
Concur:   ________________________________________  Date:   ______________ 
    Graeme Murdoch, Non-Nuclear Division Director 
    US ITER Project 



PDF generated on 01 Apr 2015
DISCLAIMER : UNCONTROLLED WHEN PRINTED – PLEASE CHECK THE STATUS OF THE DOCUMENT IN IDM

DA Study/ Report 
Final Delivery Report for SSEN HV Switches

This document provides a list of items delivered, and a record of their delivery and 
acceptance by ITER, and associated documentation, for the ITER SSEN HV Switches, in 
accordance with Procurement Arrangement 41.P8C.US.01 for the US Domestic Agency 
supply of materials for the Steady State Electrical Network (SSEN).
 
The initial version is created prior to shipping and the final version is submitted after all 
details of shipping and acceptance by ITER have been completed. Signatures of ...

Approval Process
 Name Action Affiliation
Signatory Neumeyer C. 23 Mar 2015:signed
Co-signatories
Reviewers Benfatto I. 

Consolo G. 
Ko H. 
Pajak P. *
Qiao Y. 

25 Mar 2015:recommended
24 Mar 2015:recommended
24 Mar 2015:recommended
24 Mar 2015:recommended
24 Mar 2015:recommended

IO/DG/DIP/PSE/EED
IO/DG/DIP/PSE/EED/EPD
IO/DG/ADM/GEA/PCD/IPS
IO/DG/SQS/QA
IO/DG/DIP/PCA/AOP

Approver Hourtoule J. 01 Apr 2015:approved IO/DG/DIP/PSE/EED/EPD
Document Security: Internal Use

RO: Hourtoule Joel
Read Access LG: USDA PA PT, LG: IO TRO, AD: ITER, AD: IO_Director-General, AD: EMAB, AD: Auditors, AD: 

ITER Management Assessor, project administrator, RO, LG: DA TRO 4.1.P8C.US.01

IDM UID

PQYUAK
VERSION CREATED ON / VERSION / STATUS

23 Mar 2015 / 1.2 / Approved

EXTERNAL REFERENCE

1040100-PD0152-R00, US_D_234NEX

DA DOCUMENT
DELIVERABLE



PDF generated on 01 Apr 2015
DISCLAIMER : UNCONTROLLED WHEN PRINTED – PLEASE CHECK THE STATUS OF THE DOCUMENT IN IDM

Change Log
Final Delivery Report for SSEN HV Switches (PQYUAK)

Version Latest Status Issue Date Description of Change
v1.2 Approved 23 Mar 2015 Updated shipping and packaging date in section 6.
v1.1 Approved 16 Oct 2014 Updated quantities in Table 1 - List of Items Delivered
v1.0 Approved 15 Jul 2014



ITER_D_PQYUAK v1.2

PDF generated on 23 Mar 15
DISCLAIMER: UNCONTROLLED WHEN PRINTED – PLEASE CHECK THE STATUS OF THE DOCUMENT IN iDOCS

Final Delivery Report for SSEN HV Switches
Abstract or description:

This document provides a list of items delivered, and a record of their delivery and acceptance by ITER, and 
associated documentation, for the ITER SSEN HV Switches, in accordance with Procurement Arrangement 
41.P8C.US.01 for the US Domestic
Agency supply of materials for the Steady State Electrical Network (SSEN).
 
The initial version is created prior to shipping and the final version is submitted after all details of shipping and 
acceptance by ITER have been completed. Signatures of ...

Workflow Role Name Action
Author DELLAS J. 18 Mar 15:signed
Co-Authors
Reviewers PARROTT J. 18 Mar 15:recommended
Approver NEUMEYER C. 23 Mar 15:approved

iDOCS UID

US_D_234NEX

VERSION CREATED ON / VERSION / STATUS

18 Mar 15 / 1.7  / Approved
PA/TA NUMBER

4.1.P8C.US.01 

EXTERNAL REFERENCE

1040100-PD0152-R06

CLASSIFICATION

Unclassified



ITER_D_PQYUAK v1.2

PDF generated on 23 Mar 15
DISCLAIMER: UNCONTROLLED WHEN PRINTED – PLEASE CHECK THE STATUS OF THE DOCUMENT IN iDOCS

Change Log
Title (Uid) Version Latest Status Issue Date Description of Change

Final Delivery Report 
for SSEN HV Switches 
(234NEX_v1_7)

v1.7 Approved 18 Mar 15 Updated shipping and packaging date in section 6.

Final Delivery Report 
for SSEN HV Switches 
(234NEX_v1_6)

v1.6 Signed 03 Mar 15 Corrected those sections which referenced the Bill 
of Lading to correctly reference the CMR

Final Delivery Report 
for SSEN HV Switches 
(234NEX_v1_5)

v1.5 Signed 05 Feb 15 Appendices in delivery report are blank templates 
and are not completed the new version corrects 
that error with completed appendices.

Final Delivery Report 
for SSEN HV Switches 
(234NEX_v1_4)

v1.4 In Work 04 Feb 15 Adding J. Parrott as Reviewer. No content has 
changed from previous version.

Final Delivery Report 
for SSEN HV Switches 
(234NEX_v1_3)

v1.3 Approved 03 Feb 15 For Final Delivery Report: Appendix III split into 
two; now Appendix III and IV.  Appendixes 
added. Actual ship and delivery dates added.

Final Delivery Report 
for SSEN HV Switches 
(234NEX_v1_2)

v1.2 Approved 09 Oct 14 Updated quantities in Table 1 - List of Items 
Delivered

Final Delivery Report 
for SSEN HV Switches 
(234NEX_v1_1)

v1.1 In Work 08 Oct 14 Updated name from Disconnectors & Earthing 
switches to HV Switches for consistency.  (Title, 
Appendices I and III). Removed link to packing 
list as packing list will be uploaded to IDM.  
Removed version numbers from References and 
noted last approved copy is applicable.  Packing 
list updated to match final version.

Final Delivery Report 
for SSEN HV Switches 
(234NEX_v1_0)

v1.0 Approved 14 Jul 14



ITER_D_PQYUAK v1.2

        
 

Final Delivery Report 

for 

SSEN HV Switches 
(Delivered to ITER Site on 16 September 2014) 

 
US ITER 1040100-PD0152-R06 

 
 

 

PPPL Approval Process 

Author J. Dellas PTR      Approval in iDocs 

Reviewers J. Parrot LC      Approval in iDocs 

    

    

    

    

Approver C. Neumeyer TRO      Approved in iDocs 

US_D_234NEX v1.7



ITER_D_PQYUAK v1.2

REVISIONS 
 
 

Revision No. Revisions Date 

0 (Initial 
Release) Not applicable July 14, 2014 

1  

Updated name from Disconnectors & 
Earthing switches to HV Switches for 
consistency.  (Title, Appendices I and III). 
Removed link to packing list as packing list 
will be uploaded to IDM.  Removed version 
numbers from References and noted last 
approved copy is applicable. 

October 7, 2014 

2 Updated quantities in Table 1 - List of Items 
Delivered October 8, 2014 

3 

For Final Delivery Report: Appendix III split 
into two; now Appendix III and IV.  

Appendixes added.  Actual ship and delivery 
dates added. 

30 January 2015 

4 Added J. Parrott as reviewer 04 Feb 2015 

5 
Corrected those sections which referenced 
the Bill of Lading to correctly reference the 

CMR 
3 March 2015 

6 To update shipping and packaging date in 
section 6. 11 March 2015 

US_D_234NEX v1.7



ITER_D_PQYUAK v1.2

Table of Contents 
 
 
1 Purpose .......................................................................................................................... 1 
2 Definitions ...................................................................................................................... 1 
3 References ..................................................................................................................... 1 
4 Requirements ................................................................................................................. 1 
5 Scope of Delivery .......................................................................................................... 2 
6 Delivery information and Packing List ...................................................................... 12 
7 Receipt at ITER Site ..................................................................................................... 12 

7.1 Preliminary Inspection on transport vehicle before unloading (Shipment 
Inspection) ............................................................................................................. 12 

7.2 Unloading, Handling, Storage ................................................................................ 13 
7.3 Final Inspection within 2 months after unloading (Component Inspection) ............ 13 
7.4 Transfer of Ownership ........................................................................................... 13 

8 Handling and Storage Requirements ......................................................................... 13 
9 Additional Documentation .......................................................................................... 13 
 
 
 
 
 
Appendix I - Preliminary Inspection on Transport Vehicle Before Unloading 
 
 
Appendix II - CMR and /or Bill of Lading 
 
 
Appendix III - Final Inspection 
 
 
Appendix IV - Transfer of Ownership 
 
 
Appendix V - Handling and Storage Requirements 
 
 
Appendix VI - Additional Documentation 
 

US_D_234NEX v1.7



ITER_D_PQYUAK v1.2

 

US ITER Doc. No. 1410100-PD0152 R06         Page 1 

1 PURPOSE 
 
This document provides a list of items delivered, and a record of their delivery and 
acceptance by ITER, and associated documentation, for the ITER SSEN HV Switches, 
in accordance with Procurement Arrangement 41.P8C.US.01 for the US Domestic 
Agency supply of materials for the Steady State Electrical Network (SSEN).  
 
The initial version is created prior to shipping and the final version is submitted after all 
details of shipping and acceptance by ITER have been completed. Signatures of 
authorized personnel are documented in the final version.  
 
The signed version of the CMR1 (for intra-EU land transport), or Bill of Lading (for 
transoceanic transport), included in the final version of this report, serves to document 
the start of the warranty period that begins when the equipment has been loaded on the 
Logistics Support Provider’s transport vehicle at the factory. 

2 DEFINITIONS 
 
Document type is “F” according to IDM UID definitions for “DA Deliverables”. 

3 REFERENCES 
Note: The last approved version of the following document (ITER_XXXX) is applicable 
 

[1] 4.1.P8C.US.01 SSEN Main PA (ITER_D_9BED3G) 

[2] Annex B for 41.P8C.US 01 (ITER_D_9RG6H9) 

[3] Document Deliverable List for SSEN PA 4.1.P8C.US.01 (ITER_D_AKHKWN) 

[4] Specification for High Voltage (HV) Disconnectors and Earthing Switches (ITER_D_ DU9LAL ) 

4 REQUIREMENTS 
 
This report addresses the requirements for a Delivery Report given in section 7.3.e and 
7.4 of PA Annex B [2] and is a PA Deliverable according to [3]. 
  

                                                 
1 CMR stands for 'Convention relative au contrat de transport international de Marchandises par route'. It 
is a standardized document for cross-border transport by roadway in the European Union 

US_D_234NEX v1.7

https://user.iter.org/?uid=2YJ4Q6


ITER_D_PQYUAK v1.2

 

US ITER Doc. No. 1410100-PD0152 R06         Page 2 

5 SCOPE OF DELIVERY 
 
The delivery covered by this report includes all equipment required for Procurement 
Group 2 of Table 2-2 of PA Annex B and delineated in the Specification [4]. The 
equipment was procured by the Princeton Plasma Physics Laboratory (PPPL) for the 
US ITER Domestic Agency under subcontract S012904-F between Princeton University 
and Alstom SpA, Noventa di Piave, Italy. A complete list of items is given in Table 1.  
 

Table 1 – List of Items Delivered 
 

Pkg. 
No. 

Supplier Item 
No. 

ITER Equipment 
Identifier 

Item Description Qty. 

1 H05433 43AC00-JS-1000,-
1004,-1008/ 

43AC00-JT-1010,-
1014,-1018 

Following parts for 3-Phase HV 
Disconnect & Earthing Switch 

 

 1462000812  SPRING WASHER M8 U1751 A316 24 
 1462001212  SPRING WASHER M12 U1751 A316 6 
 1462001712  SPRING WASHER M16 U1751 A316 84 
 1462001712  SPRING WASHER M16 U1751 A316 24 
 1462001712  SPRING WASHER M16 U1751 A316 4 
 944RA004  ADJUSTING WASHER 72 
 CA-0080  CAP 6 
 D0423AA  S3CD LEFT CONT.3150/6HOLES 

G1+26 
3 

 D0423AB  S3CD RIGHT CONT.3150/6HOLES 
G2+26 

3 

 D0423G30  COMPL. FOR INSULATING D.127 - 
METRIC 

6 

 D0424AM  MOBILE ARM S3CD 420/3150 
G1+3+15+30 

3 

 D0503AH  COMMON PARTS S3C 3 
 D0503G70  INTERLOOCKING 3 
 L0436KT  COMPL. FOR WITHOUT ICE 

PROTECT G2-G37-G1/100- 
3 

 L0437CF  FASTENING SCREW G2-
G1/100(SILVER PLATED) 

3 

 L0499AE  ES SPRING D.10 DX 
SIDE(G1+11+5) 

3 

 LA-2543  SUPPORT 3 
 R0019G1  RING D50 320X410 2 BRACKET 12 
 R0019G5  BRACKET FOR UPPER RING S3CD 

300KV 
6 

 R0019G6  SUPPORT 6 
 R0020G1  RING D50 910X410 2 BRACKET 3 
 R0020G2  BRACKET FOR MOB.ARM 

S3CD420/2000 
3 

 RANT411022469  SCREW M16X35 EN-ISO4017 
U5739 HG 

12 

 RANT411022474  SCREW M16X60 EN-ISO4017 72 

US_D_234NEX v1.7



ITER_D_PQYUAK v1.2

 

US ITER Doc. No. 1410100-PD0152 R06         Page 3 

Pkg. 
No. 

Supplier Item 
No. 

ITER Equipment 
Identifier 

Item Description Qty. 

U5739 HG 
 RANT411022474  SCREW M16X60 EN-ISO4017 

U5739 HG 
24 

 RANT411022474  SCREW M16X60 EN-ISO4017 
U5739 HG 

4 

 RANT411034306  SCREW M8X20 EN-ISO4017 U5739 
A304 

24 

 RANT411034411  SCREW M12X45 EN-ISO4017 
U5739 A304 

6 

 RANT416121012  NUT M16 EN-ISO4032 U5588 HG 72 
 RANT416121012  NUT M16 EN-ISO4032 U5588 HG 24 
 RANT416121012  NUT M16 EN-ISO4032 U5588 HG 4 
 RANT416134009  NUT M8 EN-ISO4032 U5588 A304 24 
 RANT416134011  NUT M12 EN-ISO4032 U5588 A304 6 
 RANT417002012  WASHER D16 ISO7089 U6592 HG 72 
 RANT417002012  WASHER D16 ISO7089 U6592 HG 48 
 RANT417005009  WASHER D8 ISO7089 U6592 A304 24 
 RANT417005011  WASHER D12 ISO7089 U6592 

A304 
12 

 SU-5746  SUPPORT E.S. 3 
 SU-7663  PLATE 3 
2 H05434 43AC00-JS-2000,-

2004,-2008/ 
43AC00-JT-2010,-

2014,-2018 

Following parts for 3-Phase HV 
Disconnect & Earthing Switch 

 

 1462000812  SPRING WASHER M8 U1751 A316 24 
 1462001212  SPRING WASHER M12 U1751 A316 6 
 1462001712  SPRING WASHER M16 U1751 A316 84 
 1462001712  SPRING WASHER M16 U1751 A316 24 
 1462001712  SPRING WASHER M16 U1751 A316 4 
 944RA004  ADJUSTING WASHER 72 
 CA-0080  CAP 6 
 D0423AA  S3CD LEFT CONT.3150/6HOLES 

G1+26 
3 

 D0423AB  S3CD RIGHT CONT.3150/6HOLES 
G2+26 

3 

 D0423G30  COMPL. FOR INSULATING D.127 - 
METRIC 

6 

 D0424AM  MOBILE ARM S3CD 420/3150 
G1+3+15+30 

3 

 D0503AH  COMMON PARTS S3C 3 
 D0503G70  INTERLOOCKING 3 
 L0436KT  COMPL. FOR WITHOUT ICE 

PROTECT G2-G37-G1/100- 
3 

 L0437CF  FASTENING SCREW G2-
G1/100(SILVER PLATED) 

3 

 L0499AE  ES SPRING D.10 DX 
SIDE(G1+11+5) 

3 

 LA-2543  SUPPORT 3 

US_D_234NEX v1.7



ITER_D_PQYUAK v1.2

 

US ITER Doc. No. 1410100-PD0152 R06         Page 4 

Pkg. 
No. 

Supplier Item 
No. 

ITER Equipment 
Identifier 

Item Description Qty. 

 R0019G1  RING D50 320X410 2 BRACKET 12 
 R0019G5  BRACKET FOR UPPER RING S3CD 

300KV 
6 

 R0019G6  SUPPORT 6 
 R0020G1  RING D50 910X410 2 BRACKET 3 
 R0020G2  BRACKET FOR MOB.ARM 

S3CD420/2000 
3 

 RANT411022469  SCREW M16X35 EN-ISO4017 
U5739 HG 

12 

 RANT411022474  SCREW M16X60 EN-ISO4017 
U5739 HG 

72 

 RANT411022474  SCREW M16X60 EN-ISO4017 
U5739 HG 

24 

 RANT411022474  SCREW M16X60 EN-ISO4017 
U5739 HG 

4 

 RANT411034306  SCREW M8X20 EN-ISO4017 U5739 
A304 

24 

 RANT411034411  SCREW M12X45 EN-ISO4017 
U5739 A304 

6 

 RANT416121012  NUT M16 EN-ISO4032 U5588 HG 72 
 RANT416121012  NUT M16 EN-ISO4032 U5588 HG 24 
 RANT416121012  NUT M16 EN-ISO4032 U5588 HG 4 
 RANT416134009  NUT M8 EN-ISO4032 U5588 A304 24 
 RANT416134011  NUT M12 EN-ISO4032 U5588 A304 6 
 RANT417002012  WASHER D16 ISO7089 U6592 HG 72 
 RANT417002012  WASHER D16 ISO7089 U6592 HG 48 
 RANT417005009  WASHER D8 ISO7089 U6592 A304 24 
 RANT417005011  WASHER D12 ISO7089 U6592 

A304 
12 

 SU-5746  SUPPORT E.S. 3 
 SU-7663  PLATE 3 
3 H05435 43AC00-JS-3000,-

3004,-3008/ 
43AC00-JT-3010,-

3014,-3018 

Following parts for 3-Phase HV 
Disconnect & Earthing Switch 

 

 1462000812  SPRING WASHER M8 U1751 A316 24 
 1462001212  SPRING WASHER M12 U1751 A316 6 
 1462001712  SPRING WASHER M16 U1751 A316 84 
 1462001712  SPRING WASHER M16 U1751 A316 24 
 1462001712  SPRING WASHER M16 U1751 A316 4 
 944RA004  ADJUSTING WASHER 72 
 CA-0080  CAP 6 
 D0423AA  S3CD LEFT CONT.3150/6HOLES 

G1+26 
3 

 D0423AB  S3CD RIGHT CONT.3150/6HOLES 
G2+26 

3 

 D0423G30  COMPL. FOR INSULATING D.127 - 
METRIC 

6 

 D0424AM  MOBILE ARM S3CD 420/3150 3 

US_D_234NEX v1.7



ITER_D_PQYUAK v1.2

 

US ITER Doc. No. 1410100-PD0152 R06         Page 5 

Pkg. 
No. 

Supplier Item 
No. 

ITER Equipment 
Identifier 

Item Description Qty. 

G1+3+15+30 
 D0503AH  COMMON PARTS S3C 3 
 D0503G70  INTERLOOCKING 3 
 L0436KT  COMPL. FOR WITHOUT ICE 

PROTECT G2-G37-G1/100- 
3 

 L0437CF  FASTENING SCREW G2-
G1/100(SILVER PLATED) 

3 

 L0499AE  ES SPRING D.10 DX 
SIDE(G1+11+5) 

3 

 LA-2543  SUPPORT 3 
 R0019G1  RING D50 320X410 2 BRACKET 12 
 R0019G5  BRACKET FOR UPPER RING S3CD 

300KV 
6 

 R0019G6  SUPPORT 6 
 R0020G1  RING D50 910X410 2 BRACKET 3 
 R0020G2  BRACKET FOR MOB.ARM 

S3CD420/2000 
3 

 RANT411022469  SCREW M16X35 EN-ISO4017 
U5739 HG 

12 

 RANT411022474  SCREW M16X60 EN-ISO4017 
U5739 HG 

72 

 RANT411022474  SCREW M16X60 EN-ISO4017 
U5739 HG 

24 

 RANT411022474  SCREW M16X60 EN-ISO4017 
U5739 HG 

4 

 RANT411034306  SCREW M8X20 EN-ISO4017 U5739 
A304 

24 

 RANT411034411  SCREW M12X45 EN-ISO4017 
U5739 A304 

6 

 RANT416121012  NUT M16 EN-ISO4032 U5588 HG 72 
 RANT416121012  NUT M16 EN-ISO4032 U5588 HG 24 
 RANT416121012  NUT M16 EN-ISO4032 U5588 HG 4 
 RANT416134009  NUT M8 EN-ISO4032 U5588 A304 24 
 RANT416134011  NUT M12 EN-ISO4032 U5588 A304 6 
 RANT417002012  WASHER D16 ISO7089 U6592 HG 72 
 RANT417002012  WASHER D16 ISO7089 U6592 HG 48 
 RANT417005009  WASHER D8 ISO7089 U6592 A304 24 
 RANT417005011  WASHER D12 ISO7089 U6592 

A304 
12 

 SU-5746  SUPPORT E.S. 3 
 SU-7663  PLATE 3 
4 H05436 43AC00-JS-4000,-

4004,-4008/ 
43AC00-JT-4010,-

4014,-4018 

Following parts for 3-Phase HV 
Disconnect & Earthing Switch 

 

 1462000812  SPRING WASHER M8 U1751 A316 24 
 1462001212  SPRING WASHER M12 U1751 A316 6 
 1462001712  SPRING WASHER M16 U1751 A316 84 
 1462001712  SPRING WASHER M16 U1751 A316 24 

US_D_234NEX v1.7



ITER_D_PQYUAK v1.2

 

US ITER Doc. No. 1410100-PD0152 R06         Page 6 

Pkg. 
No. 

Supplier Item 
No. 

ITER Equipment 
Identifier 

Item Description Qty. 

 1462001712  SPRING WASHER M16 U1751 A316 4 
 944RA004  ADJUSTING WASHER 72 
 CA-0080  CAP 6 
 D0423AA  S3CD LEFT CONT.3150/6HOLES 

G1+26 
3 

 D0423AB  S3CD RIGHT CONT.3150/6HOLES 
G2+26 

3 

 D0423G30  COMPL. FOR INSULATING D.127 - 
METRIC 

6 

 D0424AM  MOBILE ARM S3CD 420/3150 
G1+3+15+30 

3 

 D0503AH  COMMON PARTS S3C 3 
 D0503G70  INTERLOOCKING 3 
 L0436KT  COMPL. FOR WITHOUT ICE 

PROTECT G2-G37-G1/100- 
3 

 L0437CF  FASTENING SCREW G2-
G1/100(SILVER PLATED) 

3 

 L0499AE  ES SPRING D.10 DX 
SIDE(G1+11+5) 

3 

 LA-2543  SUPPORT 3 
 R0019G1  RING D50 320X410 2 BRACKET 12 
 R0019G5  BRACKET FOR UPPER RING S3CD 

300KV 
6 

 R0019G6  SUPPORT 6 
 R0020G1  RING D50 910X410 2 BRACKET 3 
 R0020G2  BRACKET FOR MOB.ARM 

S3CD420/2000 
3 

 RANT411022469  SCREW M16X35 EN-ISO4017 
U5739 HG 

12 

 RANT411022474  SCREW M16X60 EN-ISO4017 
U5739 HG 

72 

 RANT411022474  SCREW M16X60 EN-ISO4017 
U5739 HG 

24 

 RANT411022474  SCREW M16X60 EN-ISO4017 
U5739 HG 

4 

 RANT411034306  SCREW M8X20 EN-ISO4017 U5739 
A304 

24 

 RANT411034411  SCREW M12X45 EN-ISO4017 
U5739 A304 

6 

 RANT416121012  NUT M16 EN-ISO4032 U5588 HG 72 
 RANT416121012  NUT M16 EN-ISO4032 U5588 HG 24 
 RANT416121012  NUT M16 EN-ISO4032 U5588 HG 4 
 RANT416134009  NUT M8 EN-ISO4032 U5588 A304 24 
 RANT416134011  NUT M12 EN-ISO4032 U5588 A304 6 
 RANT417002012  WASHER D16 ISO7089 U6592 HG 72 
 RANT417002012  WASHER D16 ISO7089 U6592 HG 48 
 RANT417005009  WASHER D8 ISO7089 U6592 A304 24 
 RANT417005011  WASHER D12 ISO7089 U6592 

A304 
12 

US_D_234NEX v1.7



ITER_D_PQYUAK v1.2

 

US ITER Doc. No. 1410100-PD0152 R06         Page 7 

Pkg. 
No. 

Supplier Item 
No. 

ITER Equipment 
Identifier 

Item Description Qty. 

 SU-5746  SUPPORT E.S. 3 
 SU-7663  PLATE 3 
5 H05433 43AC00-JS-1000,-

1004,-1008/ 
43AC00-JT-1010,-

1014,-1018 

Following parts for 3-Phase HV 
Disconnect & Earthing Switch 

 

 AL-4600-03  SHAFT D.60,3X4,5 L=3000 6 
 Y-3766-STR  STRUCTURE 2 
 Y-3767-STR  STRUCTURE 1 
6 H05434 43AC00-JS-2000,-

2004,-2008/ 
43AC00-JT-2010,-

2014,-2018 

Following parts for 3-Phase HV 
Disconnect & Earthing Switch 

 

 AL-4600-03  SHAFT D.60,3X4,5 L=3000 6 
 Y-3766-STR  STRUCTURE 2 
 Y-3767-STR  STRUCTURE 1 
7 H05435 43AC00-JS-3000,-

3004,-3008/ 
43AC00-JT-3010,-

3014,-3018 

Following parts for 3-Phase HV 
Disconnect & Earthing Switch 

 

 AL-4600-03  SHAFT D.60,3X4,5 L=3000 6 
 Y-3766-STR  STRUCTURE 2 
 Y-3767-STR  STRUCTURE 1 
8 H05436 43AC00-JS-

4000/43AC00-JT-
4010 

Following parts for 3-Phase HV 
Disconnect & Earthing Switch 

 

 AL-4600-03  SHAFT D.60,3X4,5 L=3000 6 
 Y-3766-STR  STRUCTURE 2 
 Y-3767-STR  STRUCTURE 1 
9 H05433 43AC00-JS-1000,-

1004,-1008/ 
43AC00-JT-1010,-

1014,-1018 

Following parts for 3-Phase HV 
Disconnect & Earthing Switch 

 

 Y-3766-SUP  COLUMN'S SUPPORT FOR 
STRUCTURE 

8 

 Y-3767-SUP  COLUMN'S SUPPORT FOR 
STRUCTURE 

2 

10 H05434 43AC00-JS-2000,-
2004,-2008/ 

43AC00-JT-2010,-
2014,-2018 

Following parts for 3-Phase HV 
Disconnect & Earthing Switch 

 

 Y-3766-SUP  COLUMN'S SUPPORT FOR 
STRUCTURE 

8 

 Y-3767-SUP  COLUMN'S SUPPORT FOR 
STRUCTURE 

2 

11 H05435 43AC00-JS-3000,-
3004,-3008/ 

43AC00-JT-3010,-
3014,-3018 

Following parts for 3-Phase HV 
Disconnect & Earthing Switch 

 

 Y-3766-SUP  COLUMN'S SUPPORT FOR 8 

US_D_234NEX v1.7



ITER_D_PQYUAK v1.2

 

US ITER Doc. No. 1410100-PD0152 R06         Page 8 

Pkg. 
No. 

Supplier Item 
No. 

ITER Equipment 
Identifier 

Item Description Qty. 

STRUCTURE 
 Y-3767-SUP  COLUMN'S SUPPORT FOR 

STRUCTURE 
2 

12 H05436 43AC00-JS-4000,-
4004,-4008/ 

43AC00-JT-4010,-
4014,-4018 

Following parts for 3-Phase HV 
Disconnect & Earthing Switch 

 

 Y-3766-SUP  COLUMN'S SUPPORT FOR 
STRUCTURE 

8 

 Y-3767-SUP  COLUMN'S SUPPORT FOR 
STRUCTURE 

2 

13 H05433 43AC00-JS-1000,-
1004,-1008/ 

43AC00-JT-1010,-
1014,-1018 

Following parts for 3-Phase HV 
Disconnect & Earthing Switch 

 

 Y-3766-BUL  BOLTS AND NUTS + ANCHORAGE 
BOLTS FOR STRUCTURE 

2 

 Y-3767-BUL  BOLTS AND NUTS + ANCHORAGE 
BOLTS FOR STRUCTURE 

1 

14 H05434 43AC00-JS-2000,-
2004,-2008/ 

43AC00-JT-2010,-
2014,-2018 

Following parts for 3-Phase HV 
Disconnect & Earthing Switch 

 

 Y-3766-BUL  BOLTS AND NUTS + ANCHORAGE 
BOLTS FOR STRUCTURE 

2 

 Y-3767-BUL  BOLTS AND NUTS + ANCHORAGE 
BOLTS FOR STRUCTURE 

1 

15 H05435 43AC00-JS-3000,-
3004,-3008/ 

43AC00-JT-3010,-
3014,-3018 

Following parts for 3-Phase HV 
Disconnect & Earthing Switch 

 

 Y-3766-BUL  BOLTS AND NUTS + ANCHORAGE 
BOLTS FOR STRUCTURE 

2 

 Y-3767-BUL  BOLTS AND NUTS + ANCHORAGE 
BOLTS FOR STRUCTURE 

1 

16 H05436 43AC00-JS-4000,-
4004,-4008/ 

43AC00-JT-4010,-
4014,-4018 

Following parts for 3-Phase HV 
Disconnect & Earthing Switch 

 

 Y-3766-BUL  BOLTS AND NUTS + ANCHORAGE 
BOLTS FOR STRUCTURE 

2 

 Y-3767-BUL  BOLTS AND NUTS + ANCHORAGE 
BOLTS FOR STRUCTURE 

1 

17 H05433 43AC00-JS-1000,-
1004,-1008/ 

43AC00-JT-1010,-
1014,-1018 

Following parts for 3-Phase HV 
Disconnect & Earthing Switch 

1 

 DMR-17245  RCP FOR N°3 1-POLE DS+1ES 1 
 DMR-17246  MOTOR OPERATING MECHANISM 

CMM/400/A1/180/0/C1/S1/0/1 
3 

US_D_234NEX v1.7



ITER_D_PQYUAK v1.2

 

US ITER Doc. No. 1410100-PD0152 R06         Page 9 

Pkg. 
No. 

Supplier Item 
No. 

ITER Equipment 
Identifier 

Item Description Qty. 

 DMR-17247  MOTOR OPERATING MECHANISM 
CMM/800/A1/180/0/C1/S1/0/1 

3 

18 H05434 43AC00-JS-2000,-
2004,-2008/ 

43AC00-JT-2010,-
2014,-2018 

Following parts for 3-Phase HV 
Disconnect & Earthing Switch 

 

 DMR-17245  RCP FOR N°3 1-POLE DS+1ES 1 
 DMR-17246  MOTOR OPERATING MECHANISM 

CMM/400/A1/180/0/C1/S1/0/1 
3 

 DMR-17247  MOTOR OPERATING MECHANISM 
CMM/800/A1/180/0/C1/S1/0/1 

3 

19 H05435 43AC00-JS-3000,-
3004,-3008/ 

43AC00-JT-3010,-
3014,-3018 

Following parts for 3-Phase HV 
Disconnect & Earthing Switch 

 

 DMR-17245  RCP FOR N°3 1-POLE DS+1ES 1 
 DMR-17246  MOTOR OPERATING MECHANISM 

CMM/400/A1/180/0/C1/S1/0/1 
3 

 DMR-17247  MOTOR OPERATING MECHANISM 
CMM/800/A1/180/0/C1/S1/0/1 

3 

20 H05436 43AC00-JS-4000,-
4004,-4008/ 

43AC00-JT-4010,-
4014,-4018 

Following parts for 3-Phase HV 
Disconnect & Earthing Switch 

 

 DMR-17245  RCP FOR N°3 1-POLE DS+1ES 1 
 DMR-17246  MOTOR OPERATING MECHANISM 

CMM/400/A1/180/0/C1/S1/0/1 
3 

 DMR-17247  MOTOR OPERATING MECHANISM 
CMM/800/A1/180/0/C1/S1/0/1 

3 

21  SPARE PARTS Following parts for 3-Phase HV 
Disconnect & Earthing Switches 

 

 CG-1338  CONTACT (30X4 SHORT) 8 
 CG-1338  CONTACT (30X4 SHORT) 8 
 CG-1488-01  STUD D.30 

SILV.20MICRON+CLINCH. 
1 

 CG-1506-01  CONTACT FINGER 
SILV.20MICRON+CLINCH. 

13 

 CG-1507-01  SILV.CONTACT 
20MICRON+CLINCH. 

1 

 CG-1634-01  MOBILE CONTACT FOR S3CD 4000 
A 

2 

 CG-1635-01  MOBILE CONTACT FOR S3CD 4000 
A 

2 

22 DMR-17257 SPARE PARTS KIT CABLES FOR OL17374 1 
23 H05433 43AC00-JS-1000,-

1004,-1008/ 
43AC00-JT-1010,-

1014,-1018 

Following parts for 3-Phase HV 
Disconnect & Earthing Switch 

 

 7C0815510500PE1  LOWER PART OF INSULATOR C8 
BIL=1550 C.D.=10500 

3 

US_D_234NEX v1.7



ITER_D_PQYUAK v1.2

 

US ITER Doc. No. 1410100-PD0152 R06         Page 10 

Pkg. 
No. 

Supplier Item 
No. 

ITER Equipment 
Identifier 

Item Description Qty. 

 7C0815510500PE1  UPPER PART OF INSULATOR C8 
BIL=1550 C.D.=10500 

3 

24 H05433 43AC00-JS-1000,-
1004,-1008/ 

43AC00-JT-1010,-
1014,-1018 

  

 7C0815510500PE1  LOWER PART OF INSULATOR C8 
BIL=1550 C.D.=10500 

3 

 7C0815510500PE1  UPPER PART OF INSULATOR C8 
BIL=1550 C.D.=10500 

3 

25 H05433 43AC00-JS-1000,-
1004,-1008/ 

43AC00-JT-1010,-
1014,-1018 

  

 7C0815510500PE1  LOWER PART OF INSULATOR C8 
BIL=1550 C.D.=10500 

3 

 7C0815510500PE1  UPPER PART OF INSULATOR C8 
BIL=1550 C.D.=10500 

3 

26 H05434 43AC00-JS-2000,-
2004,-2008/ 

43AC00-JT-2010,-
2014,-2018 

  

 7C0815510500PE1  LOWER PART OF INSULATOR C8 
BIL=1550 C.D.=10500 

3 

 7C0815510500PE1  UPPER PART OF INSULATOR C8 
BIL=1550 C.D.=10500 

3 

27 H05434 43AC00-JS-2000,-
2004,-2008/ 

43AC00-JT-2010,-
2014,-2018 

  

 7C0815510500PE1  LOWER PART OF INSULATOR C8 
BIL=1550 C.D.=10500 

3 

 7C0815510500PE1  UPPER PART OF INSULATOR C8 
BIL=1550 C.D.=10500 

3 

28 H05434 43AC00-JS-2000,-
2004,-2008/ 

43AC00-JT-2010,-
2014,-2018 

  

 7C0815510500PE1  LOWER PART OF INSULATOR C8 
BIL=1550 C.D.=10500 

3 

 7C0815510500PE1  UPPER PART OF INSULATOR C8 
BIL=1550 C.D.=10500 

3 

29 H05435 43AC00-JS-3000,-
3004,-3008/ 

43AC00-JT-3010,-
3014,-3018 

  

 7C0815510500PE1  LOWER PART OF INSULATOR C8 
BIL=1550 C.D.=10500 

3 

 7C0815510500PE1  UPPER PART OF INSULATOR C8 
BIL=1550 C.D.=10500 

3 

US_D_234NEX v1.7



ITER_D_PQYUAK v1.2

 

US ITER Doc. No. 1410100-PD0152 R06         Page 11 

Pkg. 
No. 

Supplier Item 
No. 

ITER Equipment 
Identifier 

Item Description Qty. 

30 H05435 43AC00-JS-3000,-
3004,-3008/ 

43AC00-JT-3010,-
3014,-3018 

  

 7C0815510500PE1  LOWER PART OF INSULATOR C8 
BIL=1550 C.D.=10500 

3 

 7C0815510500PE1  UPPER PART OF INSULATOR C8 
BIL=1550 C.D.=10500 

3 

31 H05435 43AC00-JS-3000,-
3004,-3008/ 

43AC00-JT-3010,-
3014,-3018 

  

 7C0815510500PE1  LOWER PART OF INSULATOR C8 
BIL=1550 C.D.=10500 

3 

 7C0815510500PE1  UPPER PART OF INSULATOR C8 
BIL=1550 C.D.=10500 

3 

32 H05436 43AC00-JS-4000,-
4004,-4008/ 

43AC00-JT-4010,-
4014,-4018 

  

 7C0815510500PE1  LOWER PART OF INSULATOR C8 
BIL=1550 C.D.=10500 

3 

 7C0815510500PE1  UPPER PART OF INSULATOR C8 
BIL=1550 C.D.=10500 

3 

33 H05436 43AC00-JS-4000,-
4004,-4008/ 

43AC00-JT-4010,-
4014,-4018 

  

 7C0815510500PE1  LOWER PART OF INSULATOR C8 
BIL=1550 C.D.=10500 

3 

 7C0815510500PE1  UPPER PART OF INSULATOR C8 
BIL=1550 C.D.=10500 

3 

34 H05436 43AC00-JS-4000,-
4004,-4008/ 

43AC00-JT-4010,-
4014,-4018 

  

 7C0815510500PE1  LOWER PART OF INSULATOR C8 
BIL=1550 C.D.=10500 

3 

 7C0815510500PE1  UPPER PART OF INSULATOR C8 
BIL=1550 C.D.=10500 

3 

35  SPARE PARTS   
 7C0815510500PE1  LOWER PART OF INSULATOR C8 

BIL=1550 C.D.=10500 
1 

 7C0815510500PE1  UPPER PART OF INSULATOR C8 
BIL=1550 C.D.=10500 

1 

36 DMR-17257 SPARE PARTS KIT CABLES FOR OL17374   
 

HH6416060009   
INSULATED CABLE 4X2,5 N1VC7VK 

BLUE 
970
m 

 
HH6417564007   

INSULATED CABLE 12X1,5 
N1VC7VK BLUE 

1000
m 

US_D_234NEX v1.7



ITER_D_PQYUAK v1.2

 

US ITER Doc. No. 1410100-PD0152 R06         Page 12 

Pkg. 
No. 

Supplier Item 
No. 

ITER Equipment 
Identifier 

Item Description Qty. 

37 DMR-17257 SPARE PARTS KIT CABLES FOR OL17374   
 

HH6415960007   
INSULATED CABLE 24X1,5 

N1VC7VK BLUE 
1290

m 
 

HH6417860007   
INSULATED CABLE 2X1,5 N1VC7VK 

BLUE 
680
m 

 

6 DELIVERY INFORMATION AND PACKING LIST 
 
The items were delivered under the ITER framework contract to the Logistics Support 
Provider (LSP). They were transported over land from the Alstom factory in Noventa di 
Piave, Italy, to the ITER site at Cadarache, France. The ship date was 16 September 
2014 and the delivery date was 18 September 2014.  
 
Note that the shipping date will be documented by the CMR and will establish the start 
date of the warranty period. 
 
Detailed delivery information along with a packing list that details individual packages 
and their contents is available at ITER_D_ Q6MDZP. 
 
 

Place of Delivery Supplier Information 
 
ITER Organization 
St Paul Lez Durance, France 
 
Shipment received by: Qiao Yanchun, Transport 
& Logistics Resp. Officer 

 
Alstom Grid S.p.A. 
Via Meucci 22, 30020 
Noventa di Piave 
Italy 
 

 
Packaging Date: 16 September 2014 
 

7 RECEIPT AT ITER SITE 
 
Per PA Annex B section 6.5.1, ITER is responsible for incoming inspection, which shall 
occur in two steps, one before unloading, and another within 2 months after unloading. 
 

7.1 PRELIMINARY INSPECTION ON TRANSPORT VEHICLE BEFORE 
UNLOADING (SHIPMENT INSPECTION) 

ITER personnel shall inspect the items prior to unloading from the LSP transport 
vehicle. Any anomalies shall be noted and documented and, if serious, should be 
brought to the attention of the US ITER Technical Representative as soon as possible. 

US_D_234NEX v1.7



ITER_D_PQYUAK v1.2

 

US ITER Doc. No. 1410100-PD0152 R06         Page 13 

Once inspection is complete and/or anomalies are reconciled, physical custody of items 
shall be transferred to the ITER Organization. 
 
An authorized ITER Representative shall sign the Appendix I form and the CMR 
(Appendix II) to complete this step. 
 

7.2 UNLOADING, HANDLING, STORAGE 

The ITER Organization shall be responsible for unloading and subsequent handling and 
storage.  Note that the delivered items are US Government Property during this period, 
until final acceptance, and that the ITER Organization assumes responsibility for risk of 
damage after preliminary inspection as described in 7.1 and in Article I.3.1 of PA Main 
[1]. 

7.3 FINAL INSPECTION WITHIN 2 MONTHS AFTER UNLOADING 
(COMPONENT INSPECTION) 

The ITER Organization shall be responsible for final inspection prior to acceptance. 
Once inspection is complete and/or anomalies are reconciled, ownership of items shall 
be transferred to the ITER Organization in accordance with Article I.3.2 of PA Main [1]. 
 
An authorized ITER Representative shall sign the Appendix III form to complete this 
step. 
 
After completion of this step, the final version of the Delivery Report shall be prepared 
and submitted to IDM, and the US DA shall be entitled to request credit as described in 
Article II.2.2 of PA Main [1]. 
 

7.4 TRANSFER OF OWNERSHIP 

The transfer of ownership will be completed by the completion of the Transfer of 
Ownership form attached hereto as Appendix IV 

8 HANDLING AND STORAGE REQUIREMENTS 
 
Handling and storage requirements are indicated on the itemized packing list. If there 
are any special requirements they are attached hereto as Appendix V. 

9 ADDITIONAL DOCUMENTATION 
 
Any additional documentation associated with the delivery is attached hereto as 
Appendix VI. 
 

US_D_234NEX v1.7



ITER_D_PQYUAK v1.2

ITER_ D_ PQYUAK vt.O US_D_234NEX vl.O 

APPENDIX I 

Preliminary Inspection 
on Transport Vehicle Before Unloading 

Description of Shipment: ITER SSEN HV Switches 

Results of Preliminary Inspection: 

[}{) Satisfactory wr'.r£... t;ll-€ ~.·~ ~~~171 

D Unsatisfactory 

Comments (include impact recorder data, attach additional sheets, if necessary): 

/ '" /"# a.n t. 'U..p _,et.y ':>12--LL . .£-~ ~ lfJaz-R.:..,._,' #"\.A. "1.-CAJ.-- fv.. r~c;D\r,.... VJ.Q....4 

\.) 11 .L n /)/) ~ . /1 . • .L , • ,f_ J• / , 
~, , 7u- \.) . I "'"""'' <) ' .....,..,_ ...,, ..... c.-~- ., ~ 

J IL f-if.A f?~U --u.~ .:D> ~ ~fu-( U{J-tYCA . 

Ya.11~ c1cAo 
Name and Title of ITER 10 Representative: TY-M~ 8< ~~tfh' c.-$ 

Signature of ITER 10 Representative: ~tN-w 

~ ... cr ·~ 

Date: 2 r~cl c9-a, ~ l....., Time: ___._t_ l"-'.'-'o;_o _______ _ 

After completion, sign Bill of Lading, attach and scan this document plus Bill of Lading, 
and e-mail to jdellas@pppl.gov and joel.hourtoule@iter.org 

Doc. No. 141 01-PD0152 Page 14 

US_D_234NEX v1.7



ITER_D_PQYUAK v1.2

Delivery Deviation Report 

Observation 

After the preliminary inspection was conducted, one minor deviation was identified: 

The protection nets on the switches ends were missing in one package. 

More details please see the attached photos. 

Analysis & conclusion 

Alstom Italy forgot to cover the switches ends in one package with protection nets. 

Actions 

This accident's root cause is the package quality. Two actions are therefore recommeded: 

USDA to request Alstom to improve the package quality for the future shipments in any; 

10 to request Alstom to provide protection nets to cover the the switches ends in the ITER 

site. 

22"d Sep, 2014 

US_D_234NEX v1.7



ITER_D_PQYUAK v1.2

Protection nets should cover the ends of HV switches. 

But in one package, the protection nets are missing. 

US_D_234NEX v1.7



ITER_D_PQYUAK v1.2

 

US ITER Doc. No. 1410100-PD0152 R06         Page 15 

APPENDIX II 
 

Bill of Lading or CMR Form As Applicable 
 
 
 
 

Signed Bill of Lading or CMR to be inserted here after completion of delivery 
 
 
 
 
 

US_D_234NEX v1.7



ITER_D_PQYUAK v1.2

odel IRU Geneve 

1 ~~~ec~'m:.e.A"n~~~.aL~nd)E.xp6<hteur (nom,adresse,pays) ~,:T~~ ~:z~6::l:URA 
LETTRE DE VOITU RE 
INT E RNATI ON AL£ CMR N. VE0866/14/17 3 7 4 I NT E RNATI O N A L 

ALSTOM GRID S.p.A. CONS I G N ME N T NOTE 
F AC HTBR IE F - TRUCK 1 Via Meucci, 22 TR A N9 P O RTDOC UM C NT 

30020 Noventa di Pi ave (VE) e_uesto lraspono e SOitOmesso, nonostante qualunque Clausola Oiese BefOrderuno untertiegt trotz 
~fllrarla alia convenzione relativa al contratto di trasporto einer gegenteiligen Abmachung den 

ITALY lnternazlonale dl merci su strada (CMR) Bestimmungen des Obereinkommens 
Ober den BefOrderungsvertrag lm 

e traspon est soumis. nobstant toute d ause contraire.a Ia lntemationaten StraBengOterverXehr (CMR) 
Convention relative au contrat de trasport international de 
marchandises parroute (CMR) 

2 ~s~~~a~o(~~~~~~=·~:~~ destinataire (nom.adresse,pays) 16 ~~~2~~~~e~~~~X;sJ,~'R~L1"~}o, stato) - transporteur (nom, adresse. pays) 

ITER ORGANlZATION UAB .. EUROCARG024'" 
ROUTE DE VfNON SUR VERSON 

LT-27 101 GRIGlSKES 
13115 ST PAUL LES DURANCE 
FRANCE 

U ETUVA 

YANCI-IUN QIAO +33 4 42 17 62 57 

~~eVJSto oer Ia con~ della merce (locald s:ato)-lieu prevu pour Ia livra1son de Ia merchandise leu 
pays - uSJ•eferiinQSOrt ~es Ut 

o4 "'7 Trasponaton Succe..s.sM (cognome, nome. indiriZ.zo, stato - TraMPOrteur successifs nom. adresse, pays) 

ST PAUL LES DURANCE - FRAI"'CE 

4 ~~~.0 d~~)'~ g~~~~?~~~~C:::,e~l;n:e~;~ G~:~ (b~~~=~~b~ft~) en charge de Ia merchandise (lieu, 18 Riserve ed osservazioni del trasportatore - Reserves et observations du transporteur 
Vorbehalte und Bemerk ungeh der FrachtfOhrer 

NOVENTA 0 1 PIAVE, 16/09/2014 10.45 

5 Oocumenti allegati - Documents annexes 
BeigefOgte Dokumente 

PACKfNG LIST 

6 Contras~nl e numen 7 Numero dei col1 8 lmbaiiS9<JiO 9 Oenominaz.eorrente della 1 0 N" d; stat;stica 11 Peso lo<do kg. 12 V~ume w' merce Marques e num,ros Nombre des cotis Mode d embaftage Nature de Ia marchand1se No statistique ~~~~~t1nko Cubage m3 
Kennze1chen und Nummem Anzahl der PackstUcke An der Verpackung Bezek:hnung des Gutes Statistiknummer Umfanginm3 

TOTAL PACKAGES NO: 10 

CASES NO.: 1137, 2/37, 3/37, 4/37, 9137, 17/37, 21/37, 22137, 23/37, 36/37 

CONTAINING PARTS OF DISCO NNECTORS - HV SWITCHES 10.003,00 59,86 

PPPL S ubcontract #S012904F 

Classe e! 
ClasseiK.Iasse ~~·· I hlffreJZiffer 

~~ttera/Lenre I 
uchstabe I AOR I 

13 lstruzioni del mittente 1 9 Convenziom part1colari 
lnstruclion de /'exp8diteur 
Anweisungen des Absenders Convensions particuli6res 

Besondere Vere•nbarungen 

2 O da pagan! per. Mittente Valuta ~-~inatano 
A ~yerpar 

E.xpediteur Monna.e Ef Shnata1re 
Zu lahlen vom Absender wahrung mpfanger 

~OtraSj)OrtO ransport/Fracht: 
namento 

ucUon I Ermassinaunaen:· 

Saldo 
Solde I ZWischensumme· 

1 4 lstruZIOOI per ~ paoamento de4 n~o c: Franco c Asse9nato 
Magglorazloni 
Supp4ements I ZuschiAge: 

~;:~g~~~~~;rsL~:0ent Franco Non franco 
So~ement1 Fre; Umre1 
CharQes/NebengebOhren:+ 

Totale/Totale/ 
Gemsamtsumme: 

21 ~~rgr~~o a NO VENT A Dl PIA VE, Le 16/09/2014 15 r lmborso/RelmboursemenURUckerstattung 
Ausgefertigt in Am 

22 2 3 Finn a e timbro del tra!portatore 2 4 Merce ricevuta 

ALSTOM GRID S.p.A. Signature et timbre du trans~eur 
Merchandi~s retrues 
Gut empfangen 

Via Meucci, 22 
HOC 5 30020 Noventa di Piave (VE) 

ITALY 

(y~ 
""~~ 

.1.. ..JQ 
•Ill• motnce - ..,.. ~umero d'"rTVnatncolation de a '"V\...1 

~" y :tv I\ ...... 
~~-0 

~ummemschikt der Kraftma n 

inna e timbro del m1ttente FM 924 Firma e t.tmtro del destmatano 
~ignature et timbre de l"expediteur 
U~tersetuift und Stempet des Absenders arga rwnord'lk> 

~~ature et tmbre du destinata.re 
Uotet'SChnfl und Stempel des Empflngers 

rador number !)tate 
~ummemschild des Anhaenger 

I nwncn dall ' I al l j comprcso devono cs.sc.re comp1l>~U souo Ia rc:sponsabll.ui del mtttente. oltre a1 numen 19-21-22 Lc paro tr3CCtate 1n ~no de\ono essc.re camptlate dal uasporunore 
A rcmphr 500:5 Ia rcspons;tb•luC de l 'npC:dncur 1·1') compns et 19+21+22. Lc:s parues encadtet:s de !ignes grnsscs dol\enl etrc remphcs par lc transpOncur 
AUS"Lufilllen umer dcr Vcrnnt\\onun¥ de~ Abscndcrs 1·1 ~ c~nschllcsslch 19-"-21• 22 . Dte mit fen gedruckten Luucn emaer.lhmlcn Rubnkcn mOssen \Om FrachdUhrcr ausgefulit '1\erdcn. 
Per lc mcrct pcnooi<>"C mdu;;~rc oltrc Ia cknonunaLIOIIC Corrente. Ia dasse. Ia clfr.1 c se del caso la leuern 

~~~ cas~~ marc:~1~~•scs d<mgc:rcu~s uKII(!t~; ou~c Ia .. ccn.ncat•~n}~~~~~~~~-a.t~-~~~~~--~~~~ _d_u_~~~-ta .. ~~~~ -~-c~~~.~~~c.~~~~~~~~~~~:.'.~ .... - o ..... .. _ .. _ 

US_D_234NEX v1.7



ITER_D_PQYUAK v1.2

~odel iRU Geneve 

1 ~~"s:~e~~;~eA~~n~.aLo;~ Exp«j1teur (nom,adresse,pays} ~rirJ~:tz~6~!LJURA 
LETTRE DE VOITURE 
INTERNATIONA L E CMR N. VE0867/14/1737 4 INTERNATIONAL 

ALSTOM GRID S.p.A. CONSIGNMENT N OTE 
FACHTBR I EF· TRUCK2 Via Meucci, 22 T~AN~PORTDOCUM~NT 

30020 Noventa di Piave (VE) C?_uesto traspono e sottomesso, nonostante qualunque clausola Oiese Berorderung unterliegt trotz 
~ntraria ana convenzione relatrva al contratto di trasporto elner gegenteillgen Abmachung den 

ITALY intemazlonale dl merci su strada (CMR) Bestimmungen des Oberelnk.ommens 
Ober den BefOn::l eru~svertrao lm 

~e trasport est soumis, nobstant toute da~se contraire.llla lntemationalen & raBengOterverltehr (CMR) 
onvention relative au contra! de trasport mtemational de 

marchandlses parroute (CMR) 

2 rm~~~~:ro(~~~~~~~~~·e:~~ destmatalre (nom,adresse,pays) 16 ~~=~g~~~~(~~~~~~Sc'h~~L~'ZFo , state)- transporteur (nom, adresse, pays) 

ITER ORGANIZATION UAB .. EUROCARG024'" 
ROUTE DE VINON SUR VERSON LT-27101 GRIGISKES 
13 115 ST PAUL LES DURANCE LIETUVA 
FRANCE 
Y ANCHUN QIAO + 33 4 42 17 62 57 

-~- L_~--!f~vtsto ~r Ia con~ella merce Oocalitt. state ·lteu orevu pour Ia livraison de Ia merchandise Oieu ..t -, TrastKJrtatori successivt {coqnome nome tnduizzo state - TranSDOrteur suceess.fs nom. ad e 

STPAliT . T.F.S Ol rRAN\F. - FRANCE 

4 ~~~.od~t~)t~ ~~~~~¥!gi~~~~~e~~m~e~~~ (;~=~ (b~~~:~~b~furi~} en charge de Ia merchandise (lieu, 18 Riserve ed osservazioni del trasportatore- Reserves et obsel'\latlons du transporteur 
Vorbehalte und BemerXungeh der Frachtfi.ihrer 

NOVENTA 0 1 PlAVE, 16/09/20 14 10.45 

5 Oocumenti aneoatt- Documents anneds 
BeigefOgte Ookumente 

PACKING LIST 

6 Contra~m e numeri 7 Numero dei colli 8 lmballa<)!Jio g Oenormnaz.corrente deila 1 0 N" di staustica 11 Peso lordo kg 12 Volume M' merce Marques num~ros Nombre des colis Mode d embalage Nature de I• mafChandise No. statistique Polds brut, kg Cubage m3 
Kennzetctten und Nummem Anzahl der Pack.s~Ocke Art der Verpackung Bezetdmung des Gutes Statisttknummer BMtogewtcttt '" kg Umfang '" m3 

TOTAL PAC KAG ES NO: 20 

CASES NO.: 5/37 + 8/37, 10/37 + 16/37, 18/37 + 20/37, 24/37 + 29/37 

CONTAINING PARTS OF DISCONNECTORS - HV SWITCHES 15.439,00 33,34 

PPPL Subcontract #S012904F 

Classe el 
Classe!Kiasse ~:fra 

htffre/Zs.ffer 
~~ttera/lettrel 

uchstabe I ACR I 
1 3 lstruzioni del mtttente 1 9 Convenztoni particolari 

Instruction de l'expediteur 
Anweisungen des Absenders Convenstons patticuli~res 

Besondere Vereinbarungen 

2 O da pagare per Mittente Val uta =nata rio Expediteur Moo nate nataire A payer par Absender Wah rung pfOnger Zu lahlen vom· 

~::;.~~=~cit: 
~~amento 

eductfOf'l I EnniSStnoungen·. 

Satdo 
SOfde I Zwtschensumme: 

!1 4 lstruZJonl per tl pagamento del nofo c Franco c Assegnato 
Magg1oraztoni 
Suppt~ents I Zuschlage· 

~~~g~oh~~~!a~;~~~~ent Franco Non franco 
Froi Unirei Supptementi 

Charges/NebengebOhren:+ 

TotaleiTotaleJ 
Gemsamtsumme: 

21 ~~tirel~o a NOVENTA DI PIA VE, 
II 

16/09/2014 15 r lmbor>o/Reimbour>emenUROckerstattung Le 
Ausgefertigt in Am 

22 
23 '-·~~·,:r~ !24 Merce rtcevuta 

ALSTOM GRID S.p.A. Signature et timbre du tra porte 
Merchandises re~ues 

Unterschrifl und Stemoel d F u rers 
Gut emptangen 

Via Meucci, 22 
30020 Noventa di Piave (VE) 

uogo ; 
ieo le HDC 902 ~ A 

ITALY 

~~ 
~- ::--.... 

pit 

~~~ Cft" et_::) 
argamotrice ;'~ -Numero d1mmat · de I nee 

Nummem.schikJ der Kta sehme 

finna e limbro del mrttente FM 987 ill1l8 e timbro del destinatano 

~~=r: u:t;!;~~.=nders ~~~:~~ ~~~~~~~~~~~pflngers 1) arga I'Wnorchio 
raaor number plate 

Nummemschitd des Anhaenger 

I nwnen dall . 1 al 15 compreso de\ono es.sere comptlau souo 13 rtsponsabtllt.3 del minente. olu-e m numen 19-21-22 Lc paru traee~.:uc m grasseuodt:.OI)()es.stre comp1latc ~I trnSponatorc 
A remplir sous Ia rcsponsab1111e de i"e.'<pedtleur 1·15) compnstt Ph-21+22 L..es pQrtJes cncadrees de ILgnes grasses dOI\Cnt iue rcmphe1 pat lc lllli1Sponeur 
Auslufullcn unu:rdc:r Vcmnt""onungdes Abscnders I· IS cansch.hess.ch 19-t-21-21. Die mit feu gedruckten Luucn emgcrnhnllcn Rubnken mLlssen \Oill Fmch1fUhrer ausgefultt wcrdcn. 
Per Je merci pcncolosc: md1carc oltre Ia denomtn32JOne conemc, 13 cl:rne, Ia clfrn esc del caso la lt:ncra 

~~. ~!~.~~~~~~~~~~ .. ~~::~u~~ ~~ .. ~~~~; .. ~u:;:.~ .. ~~~~~:~·~.~ .. e,;:~~:a:c~'~_a,'~-~~~r! __ l~~~ _d_~-~~~-la .. ~~a~~ -~-c~~~! ~-~c -~ ~~~~~~· ~~~.~.~e.. ... .. __ ._ 

• 

: 

I 

! 

I 

i 

I 

US_D_234NEX v1.7



ITER_D_PQYUAK v1.2
Model IRU ·Geneve 

1 X~~~~~ee~c(N'~~';.eA~~t1eriW,aL~nd>Ex~iteur (nom.adfesse.pays) ~NET~~:::z~o.J;LE U ~A 
LETTRE DE VOITURE 
INTERNATIONALE CMR N. VEOSGS/14/1737 4 INTERNATIONAL 

ALSTOM GRlD S.p.A. CO NS IGNMENT N OTE 
FACH T BRIEF~ TRUCK 3 Via Meucci, 22 TRANSPORTOOCUMENT 

30020 Noventa di Piave (VE) Questa trasporto e sottomesso, nonostante quatunque dausola Diese Berorderung unter1iegt trotz 
~~traria alia co~venzione relativa al contralto di trasporto einer gegenteiligen ~achung den 

ITALY 1nternazionale d1 merci su strada (CMR) Bestimmungen des Obereinkommens 
tiber den Bef6rderungsvert rag im 

e trasport est soumis, nobstant toute dause conlraire,a Ia intemationalen StraBengUt erverkehr (CMR) 
Convention relative au contra! de trasport intemational de 
marchandises parroute (CMR) 

2 ~~~~~~baeriro{~~~~~~S~~~·t~::£- destinataire {nom,adresse.pays) 16 ~~~H~~~~~~~~~~;Sc~on'R\~"~rzzo. stato) - transporteur (nom. adresse , pays) 

ITER ORGANIZATION UAB "TRANSTIRA" 
ROUTE DE VINON SUR VERSON 

L T-27 101 GRIGISKES 
13 115 ST PAUL LES DURANCE 

LIETUVA 
FRANCE 
Y ANCHUN QIAO + 33 4 42 17 62 57 

3 ~~~o_p~~~if~fe~~~~o~~~~&~t~~~~(b~.e[«;nc)')ocalita, stato)-Lieu prevu pour Ia livraison de Ia merchandise (1 1eu, 17 ~-;~~a~~~es~~~~M~~~~!: :~~~R?r~~ stato)- Transporteur successifs (nom, adresse, pays) 

ST PAUL LES DURANCE - FRANCE 

pays, a e - un ag er ma me es es , a a urn IU Vorbehalte und Bemerkungeh der FrachtfUhrer 

NO VENT A DI PIA VE, 16/09/2014 15.20 

5 Oocum.enti allegati - Documents annexes 
BeigefUgte Dokumente 

PACKING LIST 

6 Contrass~ni e numeri 7 Numero dei coni 8 lmball~gio g Denominaz.corrente della 1 Q W di statistica 11 Peso lordo kg . 12 Volume•i merce Marque7> e numeros Nombre des colis Mode d emballage Nature de Ia marchandise No. statisttque Poids brut.kg Cubage m3 
Kennzerchen und Nummem Anzahl der PackstOcke Art der Verpackung Bezeichnung des Gules Statistiknummer Bruttogewtcht in kg Umfang in m3 

TOTAL PACKAGES NO: 07 

CASRS NO.: 30/37 -;- 35/37, 37/37 

CONTAINING PARTS OF DISCONN ECTORS - HV SWITCHES 
7.268,00 7,60 

PPPL Subcontract #SOl2904F 

Classe e] 
ClasseiKJasse ~~ra I hiffre!Ziffer 

~~ettera/lettrel 
Buchstabe I AD~ I 

13 lstruzioni del mittente 19 Convenzioni particolari 
Instruction de l'expediteur 
Anweisungen des Absenders Convensions particutieres 

Besondere Vereinbarungen 

2 O da pagare per. Mittente Valuta g:stinatario 
Expediteur Monnaie estinata ire 

A payer par. Absender Wahrung mpfanger Zu Zahlen vom: 

Prezzo trasporto 
Prix transport/Fracht 
~Fonamento 

eduction I Ermasslngungen:-

Saldo 
Solde I Zwtschensumme: 

114 lstruzion~ per il pagamento del nolo _ Franco 
Maggiorazioni 

o Assegnato Supplements I Zuschtage: 

~=g~oh~~~~~~~~~~~ent Franco Non franco 
Supplement! Frei Unirei 
Charges/NebengebUhren:+ 

Totale/Totale/ 
Gemsamtsumme: 

21 ~fla~fi::~oa NO VENT A DI P IA VE, 
II 

16/09/2014 15 1RimborsaiReimboursemenVRUckerstattung Le 
Ausgefenigt in Am 

22 23 Firma e timbre del trasportatore 24 Merce ricevuta 

Signature et timbre du transpon.eur 
Merchandises re~es 

ALSTOM GRID S.p.A. Gut empfangen 

Via Meucci, 22 
30020 Noventa di Piave (VE) 

Luogo il E~;;.7·-~""~ 
ITALY 

~~ 
~~~~U' arga motrice \. ,;--·-0 ~umero dlm~atricolation de Ia motrice 

~ummemschrld der t<raftmaschine 

Firma e timbre del mittente FH 659 Fmna e tlmbro del destinatano 
Signature ettimbre de t'expediteur Signature et timbre du destinataire 
Unterschrift und Stempel des Absende rs arya rimorchio Unterschrift und Stempel des Emptangers 

ractor number plate 
jNummemschild des Anhaenger 

--------- ------- --

I numcri dati' I al 1.5 comprcso de-. ono esscre compilati sotto Ia respons.abilit.:i dd miueme, oltrc J.i numc:ri 19 -2 1-22. Le parti tr.:Jcciate m grasscuo dt\·ono es.sere compilatc dal tmsporutort 
A rcmplir sous Ia rcsponsabilitC de I' expediteur 1-15 y compris et I 'h-211-22. Les parties enc::~.drees de hgnes graw:s doivcot rue remplics Jl:If lc trnn:SJ)Ortcur. 
Aus~.ufullcn wJtcr dcr Veraut\\OMwlg des Abscndcrs 1-15 einsch!Jcs.sich 19-+21•22 Die mit fctt gcdruck:ten Lmien eingernhml.eo Rubnken milsscn .,·om Frochlftihrcr ausgcJUiit werdcn 
Perk: mcrd pcricolose indJC:J.tc o ltte Ia denomin.:uionc correute. Ia classc. Ia cifr::J esc del C:J.SO Ia letter::t. 
En cas de marchandiscs dangereuses indiquer. outre L'l cenificauon e\ entuelle 3 Ia demii!re ligne du cadre : la classe, Ia duffre et le cas Cch6:ltant. Ia lenre. 
Sci gefuhricen Gillem isl ausser dcr evemueUcn Bcschcin.igung auf dcr letzten Linie der Rubrik :mzugebcn: die K.las.se, die Ztffcr SOWle gcgcbcncnfalls der Buchstabc 

US_D_234NEX v1.7



ITER_D_PQYUAK v1.2 US_D_234NEX v1.7



ITER_D_PQYUAK v1.2 US_D_234NEX v1.7



ITER_D_PQYUAK v1.2

 

US ITER Doc. No. 1410100-PD0152 R06         Page 18 

APPENDIX V 
 

Handling and Storage Documentation

US_D_234NEX v1.7

bjedic
Typewritten Text

bjedic
Typewritten Text
No additional documentation

bjedic
Typewritten Text

bjedic
Typewritten Text



ITER_D_PQYUAK v1.2

 

US ITER Doc. No. 1410100-PD0152 R06         Page 19 

APPENDIX VI 
 

Additional Documentation 
 
 

US_D_234NEX v1.7

bjedic
Typewritten Text
No additional documentation


	Final_Delivery_Report_for_SSEN_HV_Switch_PQYUAK_v1_2.pdf
	1 Purpose
	2 Definitions
	3 References
	4 Requirements
	5 Scope of Delivery
	6 Delivery information and Packing List
	7 Receipt at ITER Site
	7.1 Preliminary Inspection on transport vehicle before unloading (Shipment Inspection)
	7.2 Unloading, Handling, Storage
	7.3 Final Inspection within 2 months after unloading (Component InspectiON)
	7.4 Transfer of ownership

	8 Handling and Storage Requirements
	9 Additional Documentation


		2015-08-12T09:02:51-0400
	Charles L. Neumeyer




